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(2) f%dw=ln|:r|+0

(3) f[@f(:(;)+b_q(a:)}dm:aff(x)da:+bf_q(m)da:

Check &Y : & HF(x))E 0|12 > OIE2&2(f(x))
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(1) f(Ba:QZx)da: (2)](3:21)(1+1)d3:
solution (D) f(3932+29:)d9: =3f:1:2d:r:+ 2fmda:
$3 $2
=23 +22+C

o714, C=3C,+2G,°|t}) = R R B R

2) j (2 1)z +1)dx= j (2*+ 22z 1)dx

—fxdm+fxdazfa:da:f1dm

1
:73; +C’ —x +C —:1: +C’ (:I:+C4)
4 3 2
1 1
= gt g gt @
4 3 2
o] 714, ¢= 01+02+03+C’40]E}. SE QDN DR = OIMERS
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D [xVxar @ [(F—2xt 1) dr

mle

@ [-D¥ar— [(x+DPax @ f(%_%)dx

3 3

sf @© fxzdx: 31 x2+1+C—§x2Vx+C
L

2

@ fxza’foIx dx+ fderC: §x2+x+c

3) f{(x—1)3—(x+1)3}dx
_ f{(x3_3x2+ 3x— 1) — (23 +3x°+3x+ 1)} dx

— [(—6x? = dx— — 22>~ 2+ C

@) ZI% a’x—ZI# de=2lnx—2 ﬁxﬁﬂﬂLc

:21nx+z+c
x




(1) f %(3&—233) dz (2)—9:(/(6 2—1)d$)
solution /
(D) j (32°—2z) |dz=3z"—2z+ C

2) E(f(ef—ndm):exz—l n




z@E40l D2y z2a40l My
(1) (sinz) = cos x fcos rdr=sinxz+C
(2) (cos )" = —sinzx fsin rdr=—cos z+C
(3) (tan )" = sec’ x fsecz:rdﬂf=tanx+0
4) (cotz)' = —cosec’ z fCOSeCZJCdI'Z —cotz+ C'
(5) (secx) = secx tan x fsec:r tan xdx= secx +C
(6) (cosecz)’ = —cosecx cotx fcosecx cot z dz=—cosec x+ C'
1
(7) (") =d"Ina faxd:c= a*+ C
Ina
®) () =e [ede=etc
, 1 1
9) (Inz)" =— f—dl‘=lnm+0
i x
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AL =
=9| H=H

(10)

(sinhz) "= coshz

fcosh zdx=sinhz+ C

(11) (coshz) ' = sinhz fsinha:d:c=cosha:+0
2
(12) (tanhz) " = sech’z fsech zdx=tanhz+ C
9
(13) (cothz )’ =—cosech®z fcosech gdx= —cothz+ C
(14) (sechz) = —sechz tanhz fsech:r tanhzdz= —sechz + C
(15) (cosechz )’ = —cosechz cothz fcosech:c cothz dz= —cosechx + C
o 1 1 »
(16) (sin"'2)'= —— fidwzsin z+C
1—2° — g
i 1—x
D 1 .
(17) (tan'2) = [ —dz=tantzsC
1+x 142
Y 1 -1
(18) (sec™z)" = dz=sec 'z +C

1
f|$|\/:527—1
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“ " ol ) 87 + 1
(1) /sm de (2) f(tan3:+ cotx )" dx (3) f g dzx

solution

| 1—cosx 1
(D fsm dm—fdm Qx—sma:JrO

(2) (tanz+ cotz)? = tan’z + 2tanxz cotz + cot’z=sec’z + cosec’z O| L2

/(tan$+ cot;c)gda:—/ (sec®z+ cosec’z) dz=tanx —cotx + C

51 _ (2 4) ()2 1) (2= 22 = (2=t |

(3) = —4* 92"+ 10]| B R
2% 4 1 2% 4 1
8% +1 4° 9
f x—f — 274 1) dz — tpt i) H
27 +1 1114 In?2



